Findl Hetwo 176 Fall 1979

PRINT Your Name: .
There are 25 problems on 7 pages. Each problem is worth 6 points.

CIRCLFE | your answers. No Calculators.

1. Is the following argument valid?

All honest people pay their taxes. P X ishowet
Darth is not honest. Q X Pags tqKes
.. Darth does not pay his taxes.
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2. What is the negation of “The sum of any two irrational numbers is irrational”?
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3. Give an example of a function f from the set of integers to the set of integers
which is onto, but not one-to-one.
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4. True or False. If true, prove it. If false, then give a counterexample. If
f: X —>Y and g: Y — Z are functions, with go f onto, then g is onto.
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5. What is the coefficient of z° in (2z + 3)%?
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